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chart/graph/table/diagram/process
(show,reveal,illustrate,demonstrate,depict,describe,indicate)
2)According to/As can be seen from/As shown in/It is
clear/apparent from/ItcanbeseenfromU 0 D OO0 OO 0O OO O
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llustration is of a which is designed to (do something) |
oooood A IS made up of /consists of/comprises How
many ?A number of parts/sections | OO0 OO0 O0O OO
[1you,one [J [0 I we, the operator (LI O [ O ) First, (the cyclist)
putshisorher  onthe  0O0O0OO0OO0OO0OOO0OOONO
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JO00000000000 010 percentage / proportion 2) (v.)
make up/ constitute / account for 3) [ the biggest difference
between 2 group(A B) is in [ ,where A makes up 5% while B
constitutes 67% the highest percentage of A, which was
approximately 12% [J the percentage of A in [ ..is more than twice
that of B,the ratio is 67% to 45%($% compared to $%) [0 in ,while



a greater percentage of A than B are found inJ O . (the former is $%
and the latter is $%) [ there are more A inl] [J ,reaching
$%,compared with $% of B [0 A, which used to be theld I ..,has
become less important, which declined(increased) sharply from $%
in 1978 to only $% in 1998.001 The biggest loss was tol] 1 [1 .The
biggest gains in A were made by 0 OO O .FLOW CHART (LI 0O )
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Joooood)dn ----- slightly, slowly(C1 [ ), steadily(C1 [ )
0 O ----gradually OO [J ----- significantly , markedly [J

[ ----- rapidly , dramatically , abruptly ,sharply OJ [0 ---suddenly [
[1 ---trend inclinationtendacy 20 0O O O O OO O O

[ ----- Increase, jump ,go up ,rise, climb , ascend , level up ,surge,]
[J [J ----decrease, 0drop ,go down ,fall,---- , descend, level down,
[ O O ----keep/stay/remain/maintain stable ,----steady ,be similar
to ,there is little/hardly any/no changeld 0 [ ----- reach a highest
point/the top/the summit/the peak/the most/peak in,atl] [

[ ----- reach a lowest point/the bottom//rock/hit a trough /bottom
outd O O ----- correspond with in ----year. --- crossing the line for
----- 3) 00000 During the period 19701999 . From 1970 to
1999 . Since the early 1970s . In 1970------ then in 1980----- ten years
later 4)J O O O There was(d [ [0 O in the number of A from
1986-1990(over nextl] ..yeas) ,which was followed by [0 O [J [0 and



then O O O until 1998 when there wasl [ [ [ for the next

[1 .years From 1990 onwards, there was[1 [1 [1 [ in the number of
A whichthen O O O O at $% in 1994.1n 1990,the number reached
(was) $%,but 30 years later there wasl] (1 [ OJ .After O O O [
from0 to 0 ,A begin O O OJ OO over the next .years. The number
of [ increased rapidly from 1988 to 1990 during the five-year period
[1 There was a rapid increase from 1988 to 1990 during the five-year
period A has almost/nearly/about/over a quarter/half/twice/one
third /as many students as/as much money as /B. A has
about/approximately/exactly/precisely the same
number/proportion/amount of students/money asl1 ..It has reached
something of a plateau, X percent/an average of X percent in the past
few years in 1998.in the 3 years spanning from 1995 through
1998...the percentage of...is sightly larger/smaller than that of.....the
graphs show a threefold increase in the number of.....decreased year
by year while...in 100Test D D 0 O 00000000000
0000000 www.100test.com



